[#HHAN—9—2]

CLETD)
RAfisHi mAERE
TEE . HEHEME -T2 12X (ERURR) (BHE)hIE
TEHES . EiB4—A332—@F—2ihs
—_mmER
ARERE T EHO nogEsst i
mE1 | BEEz | BE1 | pas | hlohs
= O °___ —
wA =1t BE%IE T2 x| O .5 O O s 5.33 1133 111.33
- . : > _
HARH ;;;%fﬂl% ® O 4‘5 O O 1‘5 6.46 12.46 112.46
-~ I_ = -
HE*DQEO%QE%;FE&K O 4‘5 O O L 450 12.00 112.00
- [ _
R **%f*i REE O (L © © 1‘5 5.05 12.55 11255
. - = % = —
**Etﬁ*iﬁ'%;ﬁ?—ﬁ ®| O (L O L O 5.80 14.80 114.80
:'_7“/Iw¥i£fgﬁ§*i x| O 4‘5 O O 4‘5 O 450 13.50 113.50
- = o, *< _ _ _ —
wA =4t EEET%:":%:FE TR =R (‘) (‘) 6.52 6.52 106.52
— —
H‘:zt:*iggg;févviz& O 4\5 O O 4‘5 O 6.85 15.85 115.85
BAZEaVIY—k Bt | — - O | O
ot PCEEMAWZIE 0 45 53 985 10985
iz i’é‘%&%ﬁkﬁ%ﬁ O L O O 1‘5 - 6.82 11.32 111.32
e — — —
k—t %fgéiﬁfﬂ"ﬁ O 1‘5 O 1‘5 5.70 8.70 108.70
Xt LT EB||

EXET

R




